Example - time interval generation (%NextTimeT, %

SubTimeT)

TI ME _CasQdLoc
TI ME _CasDolLoc

IF _Interval =1 THEN ; Current work shift
_CasOdLoc : = %BubTi me (%\ext Ti me(3600*8, 3600*6, 0), 8*3600)
_CasDoLoc : = 9\ext Ti me(3600*8, 3600*6, 0)< BR>

ELSIF _Interval = 2 THEN ;
| F Hour >= 6 & Hour < 14 THEN

_CasQdLoc : = 9Next Ti me (24*3600
_CasDoLoc : = 9%Next Time (24*3600
ELSI F Hour >= 14 & Hour < 22 THEN

_CasOdLoc : = 9%Next Ti me (24*3600

_CasDoLoc : = 9%Next Ti me (24*3600
ELSI F Hour >= 22 | Hour < 6 THEN

_CasQOdLoc : = 9%Next Ti me (24*3600

_CasDoLoc : = 9%Next Ti me (24*3600
ENDI F

ELSIF _Interval = 3 THEN
| F Hour < 6 THEN

Today

_CasQdLoc : = 9%Next Ti me(3600*24,
_CasDoLoc : = 9%\ext Ti me(3600*24,
ELSE
_CasCOdLoc := 1(3600*24,
_CasDoLoc : = 9%Next Ti me(3600* 24,
ENDI F
ELSIF _Interval = 4 THEN ; Yesterd
I F Hour < 6 THEN
_CasQdLoc : = 9%\ext Ti me(3600*24,
_CasDoLoc : = 9%Next Ti me(3600*24,
ELSE
_CasQdLoc : = 9%Next Ti me(3600* 24,
_CasDoLoc : = 9%Next Ti me(3600*24,
ENDI F
ELSIF _Interval =5 THEN ; This we

_CasOdLoc : = 9Next Ti me(3600* 24,
_CasDoLoc : = 9%\ext Ti me(3600*24, (
ELSIF _Interval = 6 THEN Last we

_CasQdLoc : = 9%Next Ti me(3600*24, (
_CasDoLoc : = 9Next Ti me(3600*24, (
ELSIF _Interval =7 THEN ; This no

_sTine = o neToSt r (SysTi ne,
_eTinme = i meToStr ( SysTi ne,
_CasOQdLoc := 98trToTi me(_sTinme)
_CasDolLoc := ¥strToTi ne(_eTime)<
ELSIF _Interval = 8 THEN ; Last no
_sTime = 9% meToStr ( SysTi ne,
_eTime = i meToStr ( SysTi ne,
_CasQdLoc : = ¥strToTi ne(_sTinme)
_CasDoLoc := ¥8trToTi me(_eTinme)
ENDI F

G) Related pages:

Implemented functions

Last change

; Morning work shift

- (2+24)*3600, 0)
-18*3600, 0)

; Afternoon work shift
-18*3600, 0)
-10*3600, 0)

; Ni ght work shift
-10*3600, 0)

-2*3600, 0)
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-3600*24*2+3600*6, 0)
- 3600*24+3600*6, 0)

-3600*24+3600*6, 0)

3600*6, 0)

ay

- 3600*24* 3+3600*6, 0)
- 3600*24* 2+3600*6, 0)

- 3600*24*2+3600*6, 0)
- 3600*24+3600*6, 0)

ek

- WeekDay* 24* 3600+6* 3600, 0)

7- WeekDay) * 24* 3600+6* 3600, 0)

ek
- WeekDay- 7) * 24* 3600+6* 3600, 0)
- WeekDay- 1) *24* 3600+6* 3600, 0)

nt h
"06:00: 00 O1-mmrrrr")
"06:00:00 01-"+ % ToStr(Month + 1) +"-rrrr")

BR>

nt h

"06:00:00 01-"+ 9% ToStr(Mnth -
"06:00:00 O1-mmrrrr™)

1) +"-rrrr")
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